Mathemals Sheet 131

2% 2% T

Q-H-H5-9 -2

M O D~
N — N

SRY &

+ o+ o+

®Ae

x@gavg

RERE J
I

B

» ¢ o

ne

X
R

BB W WD =26

c+ % =10
LB BB - 17

<+

<+

R+

Qe

Y o=



Mathemals Sheet 132

Q& QW -2
L0 L& -3
W- &

Q+&-&+Q:+& -1
Q -

© N L0
Mm M N

R -

+ 4+ 4+

#0368

_Eaxu@

Wl
iy

o W

g

+ o+ o+

KBY

swe ¥

+ 4+ 4+

oK o

BB =1
W W W W -
f- W

BB W W =17
% =

R B

+ o+ o+

A S

DN N
@ Vo
.wﬁﬁnﬂ

@V g
NN



Mathemals Sheet 133

Q-5 +5 +® =20

o e o+ @ = 18
QRO Q o] =19

R- 8- %-

+ % =12

BHra+ 5+ B+ =31

Q-0 -8+ 8- = 37
K- B- &-

P mﬂw- ;
V. &- K-

@+ oB 0B+ @B =28
Q&+ R+ &+& =36

Q@ +&+@ =3
Q- &- R-
Q-9 Q% =34

Q0+ R+®+W =137
B+BH+5+€+ % =37
Q- %= 8-



Mathemals Sheet 134

+4 =8

4d+4+B+4+8 =28

oﬁ+ﬁ+¢3+ \+'?~ =22
6: .?: =

e = 7
N+ +d +tan+ e =26
D= dr= &=

HoBeBedl = o
BB B = 6
B- W- O

W W W= 6

Q+d =7
&M W+ +¥ =7
d+d+W+d+¥W =3

d=- &- ¥W-

H+BH+ B+ B =2
H+Q+ Q&+ 5+ & =39
B+ B+ B+ %+ =2

H= B=- &-



Mathemals Sheet 135

W% =8

%+ 5 Q5 @ =39

Q@ -W-W-®& =2
B= W= &-=

44 +4+¥W =2
B+W- B+ B+ B -2
49+ B+4+ =34

d- w- B-

Wy dhrd+ =2
S+ F =2
'\+?+?+ﬁ:9
be B B-

B+ W+ R+ =08

W W R =30
WD oR W - 34
W- - 8-
Sl i+ B+ =37
PEEVER VER VERVEES::

W+ B+ B, +dy =23
W= Jdh= =
e+ @+ + @ =14

W+ =6

& W W W& - s
h e ]

Sh+dh+dh+d -2

W+h+h+ B =24

EE B2 EXVER.
k= 4= B-



Mathemals Sheet 136

43+ﬁ+5+5+¢3 = 34
BB B® -
@+@+@+5:20
= F= 4=
¢+Q.+¢3+Q.+Q.=22
H+Hh+d+5%rd =21
g+g+g+¢.=13
%- &- &-

S+ +dl+ dl+ 4 = 14

<+ <+ .+“a:15
L+ @+ @ = 24
= ‘: =

B+ B+ Q&+ H =23
F+H+F-& -2
F+&-+-F+& -2
F- &- %H-

Q-0 - R+B+& =239

B+ @+ Q-+ =30
F+-F+F-%-n
- 8- &-
'+'+'+¢=10
BB B 0P - 18
~+s+~+@+-m=14
S T

4 Q- d+4+4 =33

5+‘»‘+‘@+‘v+5 = 43
d+d+4d+% =2

gd- Q- F-

B+ B+ R+ Q =24
B+@+ B+ R+ =29
B+ B+ F+B+HF -3

- &= F-



Mathemals Sheet 137

W- W+ =19 P+ =23
5+5-5+W =2 + B+ B+ L+ B =29
R+ W R+ R 0R =17 Q09 +8+0-+@& -13
- w- - - % 8-
& -J & 8:-8 -3 B+R+B+B+D =25
&P &+d -3 R+ R+ B =13
&+ D+ D+ @+ =20 w0+ A =13
Q- 4- = = B- =
i+4 +  + i +4 =18 5+ﬂ+ﬂ+5:22
&idrd+ =2 B+ 0+ v+ +F =2
L @+ =17 Sk ey e+ =11
d- - Q- S= = B-
G+ +F+H+F =3 -5 +%+&+% =39
3+ +h+ =25 L BB =18
Q-8+ &+J=09 Q-+ @+ Q@& =38
&- H- ¥- &- G- %-



Mathemals Sheet 138

G+ -G+ -u
‘s‘+‘»+ <+ ~+‘»=31
@+ @+ =2

5 - t= @ =

&+ + @+ Q-+ =2
Q9+ 5 +Q+8 -

.+.+‘5+.+.:16

Q- = B -

F+0+5+5+8 -1
G+ B+F+H =13

¢+5+‘+¢+‘5:16

Y - c= A=

KB BB B -
Lagp+ i+t 18y =31

ottty tap =17

f- G- %-

BB B =15
Brd B =20

QBB =4
B=- &= J-

i+ @ &+ I =23

.+.+‘+‘a+‘i:20

Q-+ + =1
. a- a-
W-&-& =56

B+ B+ W W+ =23
D+ &+ B+&+8 =13
f- W= ¥B-

R R I EX VNI

Y VER S IR V)

%4_ < 4+ ‘:9



Mathemals Sheet 139

B+W+ B+ B+ =33

QW W-W+& -1/
B+W+ B+ W =24
B= W= &-

Wt BBkt B =29

"B ruptar =16

BB o+ 5 =38
k= B= B-

et e A =26

o0+ @+ BB =23

4+ Q@4 =21
n- &= 4-

QO Q@ =18

Q&+ &+ =21

Q9B Q+& =16
&= = B-

W+d+4 -13
W+d-W+W+d =15
B+ B+ W W =17

4= W= 8-

0+ T+ ie A+ R = 23

B+ B+ B+ B+B =2
BB 5 =22
B=- K= B-

N ™
% A
% A
T

$o o

(@)}

o
&,

Q% +5 =2
g+\g+g+‘é+‘% = 36
H-W-W+-B =1

H= &= W-



Mathemals Sheet 140

&3+ 4y =26 R QR R R =05

B+ + B+ P -a H+BB+ B =2
Rrdrd+ b d =36 BB+ BB B =26

&- - B- 8- %-

F+B+B+F =2 W-B+-W+-® =18

B+ BB +a® =239 Wid+rd-W-d =232

Rttt 5B =41 W R WMWY =230
% - W- 8- 4 -

G- R+ H =26 Htd+ B+ B +4 =33
Q& +&+F -1 Brd+d =19
DR A R SRV 4B+ B+ B =2

& - = d= BH= B-
d+d+dy -2 W+ B+ W+W+W =09
e + B+, =16 B W R+ B+ W =17
B+d +4 =27 G-+ F+H =3

$- &- w- B- -



Mathemals Strategy

A mathemals game gives you 3 equations -- each an expression on the left
made of animals and the total value of those animals added up on the right. You
have to figure out the value each animal.

Each animal's value is the same across all three equations in that single game,
and also each animal has a different value. There is exactly one correct answer
for each animal. Of course the animals' values can change from one game to
the next.

Tactics

Here are some tactics you can use.

» If all the animals in an equation are the same type, you can use division
to discover that animal's value.

* If you know one animal's value, you can substitute it in any equation. You
can even do this with multiple animals. For example, if you know ' plus &
is 17, you can replace a ' and a &, in any equation, with 17 -- even if you
don't know the individual values of ' and &..

* It doesn't matter which order you add two things, so you're free to
reorder animals whenever you want.

* You can always subtract the same thing from both sides of an
equation. So if you have an & worth 8 on the left and the number 17 on
the right, you can remove the & from the left and subtract 8 from the
right, leaving 9.

* You can join equations, adjusting for a known difference in value. For
example, if ¥ plus & is4and F plus @ is6then ¥ + & +2 =5 + Q..
Subtracting & from both sides, you can see that & = & + 2.

* Some equations can be narrowed down with an educated guess. If three
*®s plus a % add to 7, then the «®s have to be either 1 or 2 and the * has
to be 4 or 1. Anything else would be too large.



Example

Given this mathemals game:

3‘+3‘+-‘.+* 21
wWtwt+w+ =11
3‘+u+»‘.=13

First, notice that we can reorder the animals in the bottom equation so they
match the ¥ + & + W in the top equation. Then we can subtract the bottom
equation from the top.

3‘+3‘+-‘.+"=21
3‘+-‘.+*=13

=38
Now we can substitute ¥ = 8 into the middle equation to get:
wWt+twt+tw+8=11
Subtract 8 from both sides to get:
Wt+w+w=3
And then divide both sides by 3 to get:
w=1

Finally, we can substitute the two known values into any equation containing
2 and then subtract the same amount from both sides to get an equation that
contains only ®s:

HB+w+2=13
8+1+:2=13
R =4
Voila! We now have:

=8 w=12=4



